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7,391,796 7,254,439 137,357
= 5,226,951 5,226,951 0
[ 677,032 677,032 0
Al 1,487,813 1,350,456 137,357
7,251,870 7,114,635 137,235
= 5,213,617 5,213,617 0
< 673,032 673,032 0
Al 1,365,221 1,227,986 137,235
7,251,870 7,114,635 137,235
= 5,213,617 5,213,617 0
[ 673,032 673,032 0
Al 1,365,221 1,227,986 137,235
=& FHEAMNA 153,352 115,280 38,072
201 LEH2 Y] 252 280 A28
01 At22elH 252 280 A28
OFEH 2t NAl SOU(OIAHEZ)
ZA 252,000 252 280 A28
402 RIZHX=0|H 83,100 45,000 38,100
01 BIZHAH2 AL B R (KHHITHE) 83,100 45,000 38,100
Oul& HHAIZ(EXE HY)
ZA 83,100,000 83,100 45,000 38,100
DEZE T2AIY 531,567 431,934 99,633
201 LEH2EH] 29,880 33,200 A3,320
01 AFR2elH 29,880 33,200 A3,320
OLUFe U B24LS SHIHLAS By
(OllatE2Y) A 630,000 630 700 AT0
OZSTE2L| BEZ ARG BAICH 0l At
=2) A 630,000 630 700 AT0
OZ2ETe AHEAHOIAEZ) 28,620 31,800 A3,180
— QAR ARSI S AL SIHIAL, JIZ AL
2 27,000,000 27,000 30,000 23,000
—QIRITAF O4H] L DEH|
Z3A 1,620,000 1,620 1,800 A180
301 LB EZ 1,815 2,016 A201
09 SHAIAHIXIR 2 1,815 2,016 A201
OZ2STE 22| 2ARZ L SX24 22 S|
(Ol AP ZA 1,815,000 1,815 2,016 A201
402 QIERIE0|H 417,654 314,500 103, 154
01 QIEXF=2 AP E R (XHHITHS) 417,654 314,500 103, 154
OZ2STHUBXRZ KIRALS (Z2ICHA 60%, HIZ2
CHAH 80%) 22X 417,654,000 417,654 314,500 103, 154
EXAC 2 4,230 4,700 2470
201 LEH2 Y] 4,230 4,700 2470
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—FAEHE 2& 2,215,000 2,215 2,450 N235
—FA2EA 23 2,015,000 2,015 2,250 N235
A (S ELX N 69,980 62,220 7,760
= 13,334 13,334 0
= 4,000 4,000 0
Al 52,646 44,886 7,760
e A 69,980 62,220 7,760
= 13,334 13,334 0
S 4,000 4,000 0
Al 52,646 44,886 7,760
41,035 33,022 8,013
9,483 1,470 8,013
01 At22teldl 9,483 1,470 8,013
OAERR TAHPL(AZYR 35)(HLED)
23 423,000 423 470 N7
OSIBRAES ZIBO! 2242 (AR
Z& 900,000 900 1,000 A100
OAELAJS(LREF "Gt 0lA) 8,160 0 8,160
—?A2 A4 = 70,0008 » 20 = 33| 4,200 0 4,200
—AE AAL =E 30,000& * 20 = 33l 1,800 0 1,800
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SEAd==2c 2,277 2,530 N253
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2 & 504,000 504 630 A126
HHSAAH| (A=) (JIEHIIE 69,946 77,584 7,638
Jl=22&4l 69,946 77,584 AT,638
JlE2&tl 69,946 77,584 A7,638
201 2| 18,418 20,464 A2,046
01 At22teld| 18,418 20,464 A2,046
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OL72 +=&H] 7,034 8,080 21,046
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A% 2,700,002 2,700 3,000 £300






